EARAROBEEIERT — 2 N— IBISH —F

2017858128 (&) 3EAH5EH

IR 2% 3% 3847k

‘ [R1%] & ‘ [REBE] — | & (A) 16000 B

[A~&£] 1 7% :1,600,000  ~ 237 :640,000 @ 3 7 :400,000 §

4 7 240,000 B 5 3& : 160,000 M

mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
TJALIZAA b o3 ;iﬁ_ﬂglﬁﬁﬁ 1:(4_3).6 7-7-7-7 |38.0( — | 3 | 461 *ﬁ%”ié (KH#)
Qi hk—Lh Bi7{IZEyF R T
e — EIHEER 143. -3-3- . - SRR (KFH)
Pz S— it 3 i 1(14/32)7 3-3-3-1 | 39.1 2 (4_718) el
R:hxkex) BENUIIZTLZ HE KR
s N EHEZ : ~5-6- - FEEFE (KH)
TarT7A/F32 i 3 Frigte (12414/22> 5-5-6-5 | 39.4 1 <4+514) gi%
L:w1 > hT7Ly X B:AROYF 2HITy—L
. . . 3 | HARE 1:44.5 4-4-4-3 |39.8| — 6 5020 | MALER (KH)
JV—t> hI—JLR 6.0 a4 1/2) (o) | HEEE
L:d—IbRAaqO— B:H—Frl—Ta $BAR RE
L 3 | R 1:45.0 6-6-5-6 |40.2| — 4 432 | REZEH (KH)
5/5|5 T T7+—0b 56.0 (2 1/2) (-3) KiR(ERR
L:70F—-v B:FEYRTFLIL gt
RN # 3 | RHEE 1:45.1 2-2-1-1 | 40.6| — 5 511 | IS (k)
6177 7—;(7]‘—/ 56.0 (1/2) +2) () AEEE
L:¥r/07Oq4 BIJh-H%UF liEszie ]
.= LETHIEE : —1-1- — HiBEZ (KH#H)
il l7anrz10 i 3 B 1.(%63).7 1-1-1-3 | 42.2 7 (4:378) Mﬁu‘%
Qi A bhk—L BiA-<AIUZ BA MR
® I —F—EBIERL
13—7+— 1,7,4,6,3,5,2
A== 1,7,4,6,3,5,2
Jol=5r= (1,7),4,6,5,3,2
40—+ — (4,7),(1,6),3,5,2
[ N3
BB 2 730H 714K 2-4 350M B = 2-4 1,210 3EHE 2-3-4 570M
8 B 2 320H 2=} 240M B H 2-4 2,730M K31 2-4-3 6,530
4 1809 3-4 170

ABICOVWTRDTEEERROODE. TR LIV,




